
SUCCESSIONI

Teorema. Dimostriamo che:

an → L ∈ R

bn → L′ ∈ R

L + L′ 6= ±∞∓∞

⇒ an + bn → L + L′

Dim.

Caso i: {an} e {bn} convergono (cioè L,L′ ∈ R) ⇔
{an − L} e {bn − L′} sono infinitesime
⇒ {(an −L) + (bn −L′)} = {(an + bn)− (L + L′)} è
infinitesima ⇔ an + bn → L + L′

Caso ii: {an} converge, {bn} diverge (cioè L ∈ R e
L′ = ±∞) ⇒ {an} limitata ⇒ {an + bn} diverge

Caso iii: {an} e {bn} divergono (cioè L = ±∞ e
L′ = ±∞). Consideriamo il caso L = L′ = +∞.
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⇒ ∀M > 0 ∃m ∈ N :






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an ≥ M

2
, ∀n ≥ m

bn ≥ M

2
, ∀n ≥ m

⇒ an + bn ≥ M , ∀n ≥ m ⇒ an + bn → +∞
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